INSTRUCTIONS—INSTRUCCIONES—CONSIGNES

APPLICATION:NISSAN PATHFINDER 99.5-2004

PART# 40-0825-45-0820

ITEM QUANTITY DESCRIPTION TOOLS NEEDED

1 1 GRILLE GUARD 19MM SOCKET AND RACHET

2,3 2 MOUNTING BRACKETS (2) 17MM SOCKET AND RACHET

DRIVERS SIDE, (3) PASSEN-
GER SIDE
4,5 2 TOP BRACKETS (4) DRIVERS 11MM SOCKET AND RACHET
SIDE, (5) PASSENGER SIDE
6 6 M12 X 40MM HEX HEAD TORQUE WRENCH
BOLTS
7 4 M10 X 40MM HEX HEAD
BOLTS

8 8 M10 SS WASHERS

9 4 M10 NYLOCK NUTS

10 12 M12 WASHERS

11 6 M12 NYLOCK NUTS

12 2 M6 BUTTON HEAD BOLTS

13 2 M6 NYLOCK NUTS

14 4 M6 SS WASHERS

1. Remove all contents from box, make sure all parts listed are present and free from damage. Carefully read and understand all instruction
before attempting installation.

2. Look underneath the front of the vehicle, locate and remove the three factory bolts on each side. NOTE: The Mounting Brackets will
mount to the frame-cross-member

3. Locate driver side Mounting Bracket and attach it to vehicle using the included Metric bolts as illustrated in figure below. Do not tighten
at this time.

4. Repeat steps 1 & 2 for passenger side Mounting Bracket.

5. Once the Mounting Brackets are installed, with help position the Grille Guard on the outer side of Mounting Brackets. Attach Grille
Guard to Mounting Brackets using the included (4) M12 Hex Head Bolts, (8) M12 Flat Washers, and (4) M12 Nylock Nuts as shown in
figure below.

6. Look inside the upper bumper opening and notice the two factory bolts with nuts in front of the radiator. Position the Top Bracket as
shown in figure below, and then remove the nut that lines up with the bracket hole on each bracket. Attach Top Bracket to vehicle using
the same nuts removed in this step.

7. Attach the Top Bracket to vertical plate on Grille Guard using the included (2) M6 Button Head Bolts, (2) M6 Hex Head Nylocks, and
(4) M6 Flat Washers.

8. Align the Grille Guard; then tighten all hardware at this time.

Thank You for choosing Westin products
. . For additional installation assistance please call
A P Inc. .
W3 4 z ; Westin Automotive Products, Inc Customer Service (800)793-7846
Irwindale, Ca 91706 www.westinautomotive.com

2/14/11 75-0972 Rev B ECO W12-0999



INSTRUCTIONS—INSTRUCCIONES—CONSIGNES

APPLICATION:NISSAN PATHFINDER 99.5-2004

PART# 40-0825-45-0820

Driver Side
Support Bracket }
M6 Button
Head Bolt
This side mounts to thefactory
bolt infront of the radiator
Verttical Plate
Driver Side
Bracket
10mm x 40mm
Hex Head Bolts
M12 'Hex
12mm x 40mm
2 x40 Head Bolts
Hex Head Bolts
Thank You for choosing Westin products
Westin Automotive Products, Inc. For additional installation assistance please call
5200 N. Irwindale Ave. Ste 220 Customer Service (800)793-7846
Irwindale, Ca 91706 www.westinautomotive.com

2/14/11 75-0972 Rev B ECO W12-0999



